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# Calculate the number of inversions

count = 0 # the number of inversions
Q= {} # a red-black tree
for i =1 ton

count = count + bigger (Q, a, * 2)
insert (Q, ai)

return count
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# bl[i,
# o[i,

#

for i

for i

for i

0).560)‘)3 O[TL, n] )Oé.l.f...wog,)‘e.?

j]: the value of placing flower i in flowerpot j
j]: the optimal value of placing the first i flowers

in the first j flowerpots

1 to n:
o[i, 0] = O;
1 to n:
o[0, jl = 0;
1 to n:

for j =1 to n:

ol =0[i -1, j - 1] + bli, JI1;
02 = 0[i, j - 11;

O[i, j] = max(ol, o2, 03);
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print_placement (i, j):

if i == 0 or j ==

return;
ol =0[i -1, jJ - 1] + b[i, j]1;
o2 = O[i, j - 1];

o3 = 0[i -1, 3],
if O[i, j] == ol:
print i, "->", 3j;
print_placement(i - 1, j - 1);
else if O[i, j] == o2:
print_placement (i, j - 1);
else if O[i, j] == o3:

print_placement(i - 1, j - 1);
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